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° Awnra M AN B2 A (HEHL ) CHOI A} ~716,000 &
IEOH AP (S AHIS=Z
S AMEAMEZ ZH -5000,0002 -5,000,000 &
EHIZ Qs )| 2 2 -2,000,000 &
ol+2 BTS2 S BEl HOLABE HOIAE HI ~108,509,000 &
M ABANQI A CHOIAFZ DHAI 3XH
etz 24 -77,784,000& =77,784,000 &
SHIBHAI
U A A SEPE Q) AL
BHAI A SRt 1,200,000 %1,647H*28 D] 3,952,800,000 &
OLMEFR 1,200,000% 17 *28t ] 40,800,000 &
A Et= 875,000&+66ZF *25! | 115,500,000 &
2| o ==24 600,000 *300E 25} J| 360,000,000 &
= LA 70,0002 *x600H*28¢ | 84,000,000 #
— & I = Et 50,0003 60 *4F=%25} | 24,000,000 &
@ USRS SEALRI AR CHOYAFS HI DHA 3%t 2
— MM QAT 24 —279,200,000% ~279,200,000 &
5,758,018,000 &
5330 JIEtR S 24 1,171,496 1,188,697 A17,201 1,171,496,000
175,735 164,900 10,835
A A2 =2XTH $9
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o = 20198 1% | 20198IHOIE | o
BXZZ OlAMY | 2XpEF ofar | SO HEZA 2o
2 g = (A) (B) G
— 0120/ Xt 7,000,000 7,000,000 &
© WAL 301N L SINE2D
— 01201 Xt 500,000 500,000 &
— SOLHIEZ 2 1,500,0002%23] 3,000,000 &
@ NeX LerAR(HIS=23H) 0IZ20IK 3% = Y ~499,000,000 &
@ HSTYNSY ASTUDSAALIAS 0 S0IX 3: 191,000 &
@ X LrAD(HsL ) oI SO0IX 3R XY Z% 2 250,000 &
@ CHSHFIIZE (HSH2MIISELAY BI20IR 3% 800,000 &
@ Uis o142 BTS2 Y el 6l S0IK 3% £ 2 -3 ~3,464,000 &
@ A SR B SEALI A O S0/ KE 3R = 29 - ~2,249,000 &
@ TYISA(MO) BEHSHH ALY 0IS0IX 3% =2 37,000 &
B8 1,965,386,000 &
5420 J|EtR S0l + 2 1,353,624 383,972 969,652 1,353,624,000
5421 1,353,624 383,972 969,652
&4 ® S2H(HE2Y) YEYFIH| 250,0008 1274 3,000,000 &
® E2H(HBHISS2) AHEE 28 23,000,000 * 1 230,000,000 &
Z2H(HSHIS=3) BSEX 1,0008 1,000 &
©® S2H(HEHISE3) === S 3,000,000% * 124 36,000,000 #
© LA (CHEH 2 E) JIEHE 42 20,0002 20,000 &
®© W2 (HEHISE3) JEtE =g 15,000,000& 15,000,000 &
© FHDZH(HSHIS=S) 201U+ L DIAIY
— 11,0008 1,000 &
© NEENT 4BHRH(AY)
—SSUX A2=A MB 16000& 1204 192,000 #
© oM QA
— S|ELIME 2 7,000,000 1204 2 84,000,000 &
— MEP QSN MIISEZ 1,200,008 «1204 2 14,400,000 &
W AERIH ASSHINR B4 2R XY SN 1,34) 1,348,000 &
W BHAOI A WO RIS H S| N BTS2 Y Be| B4 10,000 &
@ Z2H PEATYAUNZ F4e 3% £ SN
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= 201931 M01& | 201981 09& | .o
BREY Olate | 2RFA olarey | TS EX
2 g = (A) (8) )
~533,881,000% ~533,881,000 &
L 2,992,000,000 &
16,200 14,000 2,200
*1,000,000% 10,000,000 &
102+400,00 4,000,000 &
= PIELERIES 2,200,000 &
L 16,200,000 &
L] -
1,183,001 1,183,001 -
= BSEX (N REIHEIIS) 1,0002 1,000 &
IS=33 J1322 LASHSHIIZ 1,509,367,000 &
IS=23312 01322 YASHRHIIE
S ME Brat -326,367,000& -326,367,000 &
8:  1,183,001,000 &
A2ty 3,863,002 2 | 3.863.000 3,863,002,000
310 R 3,863,002 2 | 3.863.000 3,863,002,000
3,863,001 1 3,863,000
© B2 1,000 &
& o 3% = =
9 EX | 3,863,000,0008 3,863,000,000 &
8:  3,863,001,000 &
131 1 1 -
AS0H2 HE=3) B2 1,000 &
ERE 1,000 &
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o = 201931 M01& | 201981 09& | .o
- - = AR olarey | 2xHEY oty | TE 29
2t &t = (A) (8)
1320 S DE R L2449 -
1321 S DH - - =
2100 RESHUS 1 1 - 1,000
2110 EDIXIY2 1 1 - 1,000
2111 1 1 -
=Bl PIER R IS=3) BSEX 1,0002 1,000 &
8 1,000 &
2200 DS 275,001 235,001 40,000 275,001,000
2210 FIIX Y2 1 1 - 1,000
2211 1 1 -
IR 2 1+ ® WeH (e S=2) 1,000 &
8 1,000 &
2220 JIEFDE =R 275,000 235,000 40,000 275,000,000
2221 275,000 235,000 40,000
AR E242 ® ELH(HsLY) AHEZE2 42 100,000,000 100,000,000 &
® E2H(HHIS=E2) B2E 1,000 &
& HSAERH AHEE342 25,00 725,000,000 2
W ERH(HSHS=3) Yt zo 4,999,000 &
W OSEERH AHEE2 4
— AUEES 42 -725,000,0002 ~725,000,000 &
W] O A MBI DS ALS 23 BAIS AL R
— AHEES 42 130,000,0008 130,000,000 &
@ =X WANSUL R ANSEI42 3% £ 2 40,000,000 &
8 275,000,000 &
EEXIEE 89,790,362 | 88,439,013 1,351,349 89,790,362,000
DIAEEIIOIERE | 279,181 279,181 - 279,181,000
1100 JI XSS Xtk 3,131,383 3,131,383 - 3,131,383,000
[1110 2,732,846 2,732,846 -
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o = 20198 1% | 20198IHOIE | o
BREY KA | 2% oar | ST ME2 39
& g = (A) (8) el
fEx2 SEN2 11 58 =
— Bt S =337 212,950,0008! 212,950,000
— SRS =337 126,221,0002 126,221,000 #
— Y DSA(NE): 209,166,000 209,166,000
_ BMDEE(A): 64,640,008 64,640,000 &
— 2 g8l 5,638,0009 5,638,000
— WS &IIZ312): 121,891,0008 121,891,000 #
— WA 012251 11,0002 11,000 2
— DI AbSI Al 1,992,329,0002 1,992,329,000 &
B 2,732,846,000 #
1120 398,537 398,537
JIEIRS XA @ IIEIRSRL 1Tt £ B
— et s=32 A 376,333,000 376,333,000 &
— et HIS=25/: 486,0002 486,000 €
~ ZMISAA(ME): 312,0009 312,000 &
— HMUFA(FH): 2,124,000 2,124,000 &
— CHSrU 2512 10,486,000 10,486,000 &
— S & IIZ31: 7,016,0002 7,016,000 &
— B I3 1,183,0009 1,183,000 &
— JI=S At 3l 597,000 597,000 &
B: 398,537,000 &
2100 JIZRE =7 2,852,202 2,852,202 2,852,202,000
2120 42,624 42,624
ol %2 ®0+2 15 =8 =
— &HIS=32 Al 30,542,000 30,542,000 &
— et@blsEz3alAH: 15,000 15,000 &
—~ HMDSA(NE): 1,818,0008 1,818,000 &
— HMNSR(FCH): 74,0002 74,000 &
— 32 g8 A 2,115,000 2,115,000 2

22/70




= 20198/ A | 201938 HAS — ;v
3B OlAtY | 2XH=F ol AroH AN MEZH =Y
& g = (A) (8) el
— CHSr2 & D123 H: 4,018,000 4,018,000 &
— DI AFSI A 4,042,000€ 4,042,000 &
& I: 42,624,000 &
2130 2,809,578 2,809,578 -
= @& LR =Y 5Y
— LHEHHI S =231 H: 340,244,0002 340,244,000 &
— (et HIS =33 112,351,000€ 112,351,000 &
-~ HMNSR(MS): 198,894,000 198,894,000 &
— A (F0): 45,387,000¢ 45,387,000 &
— st A28 124,077,000 124,077,000 &
— JI=AFSI A1 1,988,625,000 1,988,625,000 &
8 I: 2,809,578,000 &
2140 - _ —
IELR S 2
8 I: - 9
2 = 90,069,543 88,718,194 1,351,349 90,069,543,000
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A =

off &t

(2019 032 01L =2 H 20203 028 292 MtX|)

= 201951 9% | 20195 A&  ron
3XFEZ MAH | 2XtF=Z Ol &t H F e & = o
2 = A) ®) el
052 2,694,063 2,378,721 315,342 2,694,063,000
= 2,015,755 1,804,833 210,922 2,015,755,000
4111 42,120 9,360 32,760 (@ SHAIKIRC °—1(\_|X| & /\P w== 2l
mEF=10; —300,000& *6IH = *1 1,800,000 &
—56,000&*9A| 2t*153+1H: 7,560,000 7,560,000 &
@ UStsA=XH AR ALY SblEs 2 & -5,040,000 &
OH AL A Eh 2k A EE2EOI =0 3 =& SH 3 37,800,000 &
g 42,120,000 &
4112 - - -
WA
B - &
4113 152,833 186,200 A33,367
MEZPNES =y HotEM SR 0|2 1= %x45A12t%35,000 284 3,150,000 &
HOUBEBM SR AS 1 =x75A12tx35,0002 %25 5,250,000 &
@ HMOtEMNEA AZ=NE
—35,000&* 12 Zt*90 Al £=+25} | 6,300,000 &
—35,000& * 12 20 Al =*25}J| 1,400,000 &
@O ANSEMISR SIH2YN MY =22 = (35,00 170,100,000 &
@O ASEMUNSR SIE2M M= 3xt =8 & -38,822,000 &
BHA MM St MEIROIHH| WRNSY 3%t =& SN 7,200,000 &
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@ TSI (A0 KALS TSAIY 3|Ef-v- -20,000 &
@ TMNSRA(HO) dEtF] P“/\F -125,000 &
@ ZMISIA(AOH 2I2tAY| JIEIR2 -2,475,000 &
@ BMISR(XOH SEHWE 7|EP9—°:‘H| 3Kt —38,969,000 &




a = 201981001 | 201080 & | .o,
3XFE MM | 2RFF Ol &Y AR SEZA = 9
2 g = (® @) #e
CEEFFEEPIEEERT
@ JISEINEAHE
— @124l (100,000& +245%)+(30,000& *24=) 3,120,000 &
— S WS38EHl (100,0003 *1E%235])+(50,0002 *2 400,000 &
© Z2oa0[g 0t
— AICH & CHatdl 10,0003 3 +23] 60,000 &
— & AEI L= 100,000 *x3&+22] 600,000 &
© HEEESSAE2
— &) Atdl W= 100,000 %38 300,000 &
— MHER0| 8,500 *3Al2t+2H 51,000 &
— Chat 2,000 %3S 6,000 &
— & 23 (300,000&*1H)+(200,000& *1H)+(100,00( 700,000 &
© SESdM 2L EEt
— Ct2t 12,0003 4 +23] 96,000 &
@ YstaI|E It
— AICH & CHatdl 10,0002 9 +43] 360,000 &
— NS & Al 100,000&+3E %52 1,500,000 &
— MHERD| 8,400 *3A|2tx2.56FH +43] 252,000 &
@ NESBYNSE STH2dM JIEt23] 3 =8 & -3,900,000 &
@ A=8dusE SEUE J|et288| 3At =2 & -3,520,000 &
(&ML JIEI2SEHI]
© M| igItHet 2 &k PIPESZZ =3HI 300,000 300,000 &
© | OiBItHet 2 et PIPESZ I 2tATH] 238 #2,( 92,000 &
© MED| MiBItHst st PIPESHE =2H[10,0008 230,000 &
© )| olBItHet e et PIPESZ I A1HI5,000%20! 520,000 &
© HOILXZ I QI H| 80,0003 *32|x25 | 480,000 &
© Fooldaz e XFHOH] 330,000 «33]+28t. 1,980,000 &
@ Foelddz AlH| 5,500 *60E 32/ x2St | 1,980,000 &
© FoYoIGAZH I 2tAIH| 2,000 «60H *3=2] %258 | 720,000 &
© Fooldazda  IEFR4| 201+20,000E 32 %, 240,000 &
@ Foeldaza =ZH| 100,000 *32+25¢ | 600,000 &
© oo dAZHE =AH| 10,0003 x50 +32]+25} 3,000,000 &
© Ol Attstu AH| 5000260 & «641*25 | 3,600,000 &
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o = 201931 H2E | 2019819 E = roron
- - BRI Clat |24 0of A s =Y 29
o g = (A) (8)
© OIEAIZE D = A0 12,0008 x28 %502 x23H )] 2,400,000 &
® QIMAIZS D XH2FFRH| 20,0008 %23 %251 80,000 &
® QI AIRIE D SEH| 50,0002} T2 J&#28H | 210,000 &
® lEIjE HENSSD INBM QL2 BT )
—osoied AEASE, DKLl S 12.440,0001 12,440,000 &
W Ol XA B EII0 JIE S Rl 2% =
— HO[OIHWT U oI ALRE D ~12,145,0008 12,145,000 &
@ QT AR ARIAY Bt 3K =& 1,142,000 &
@ QDN XIHASIE2D|0f DBt B 3%t =& ~9,992,000 &
B: 989,258,000 &
4300 o1 73t a A | 32,146,323 | 34517529 | 2,371,206 32,146,323,000
4310 91 2| 273,800 274,800 1,000 273,800,000
4311 216,600 216,600 -
o1 2| ® QIAIRIZIA HM2HA0IAL 92| 36,000,000+6 216,000,000 &
& HSAAHDINLA HPSTR A2H| 15 = 600,000 &
B: 216,600,000
4312 57,200 58,200 1,000
o1 Pzl ©® ZHLEA S20{ LU DF AL
— DRIIBLLT YE S O/ FH|: 10,0008 22 #4032 8,000,000 &
® NS AAA DI N LR K-MOOCZ HIHL 2 ALl
— 2|8 L 217,500,000 7,500,000 &
— MWL HI: 37,700,000 37,700,000 &
® 2HDEH S201AULL NI SHP2IY| 17 5,000,000 &
@ =HIEH 20U DIAI HAT22/H| 3%t 4 ~1,000,000 &
B: 57,200,000 &
4320 St A A | 30,401,203 | 32,764,569 | 2,363,366 30,401,203,000
4321 26,855,581 | 28,839,920 | 21,984,339
nexs= © HstZ®I|2E SH2IHII| L ES ol &t X F )| 95,000,000 &
® HetZ®I|2E SR SRS KTEHS2Q O 100,000,000 &
© HELXISY SRHHIISHS SLHHIS ST 200,000,000 &
@ SMH SRIINEET | K 2IIEE 198 (DX
— 8,000 *2,750,0002 22,000,000,000 &
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= 201981001 | 201080 & | .o,
3XFEZ MAH | 2XtF=Z Ol &t H oy ME2HA = o
o g s ) ®) e
@ SIS AFAE Tstg SFRI|Etw &St 3xt =& -13,000,000 &
@ ASEMINSR SIH2YHM nldsis NS -6,760,000 &
A 26,855,581,000 &
4322 104,064 118,864 214,800
nuEs 3 © St &4 102 +1,000,000& 10,000,000 &
@ MY ASS(0IXHE) © 10¥*400,000 4,000,000 &
@O ANSEMNSH WIHESZ
— A& EsE 400,000& %11 %25} D| 8,800,000 #
— BE2&st2 5,000,000& %28 )| 10,000,000 &
— uWF=EEEZ 400,000 *2H*25t )| 1,600,000 &
—AD[A Y AIRA 225 4(8,400 & <6 A1 2H+77 L x28] 9,408,000 &
— g 228 8,400F *3AI2H*10Y * 1425} D] 7,056,000 #
@ NSEMNSI SEIH SE2EM D2 E
— Sty &H &3 70,000,000 #
—BE&sta 2 NUES=E -2,000,000 &
@ SMYH SMHHI|IS2ACIAIE SR NLLHEE 3Xt =& 2,200,000 #
O ASEMNSR StH2HM DUHEs s BMISA. -17,000,000 &
2 A 104,064,000 &
4323 2,030,202 2,274,650 N244,448
e R= R a] @ Z2YS2(UHEHISE2) HAUHHISRAUS
— &8 33,000 33,000 #
—algg Y S M=Yl 202,000& 202,000 &
—&EEX L AOIA 200,000 200,000 #
— =& & 300,000& 300,000 &
=4 THAFSH] 100,000 *33] 300,000 #
— & IX2EAHl 1,500 +2709H 405,000 &
— EIFAFA O] 3,000 2709 810,000 &
— e ACHHl 2,500 *30H 3 2 4] 450,000 &
@ MES2(UEHISEEZ) 2 & A& 80,0005 6,400,000 &
@ MESI2(HSHIEE3) SnYS+stn HEASE 20,000,000 &
© EXMSUS(HEHIEES) AR+ AIZAISLE 14,000,000 &
©® WRH(HEHISE2) ARESEEE 22
—QAPSMAMS S ASEES: 1,0002%200H 25t 400,000 &
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a = 201951 9% | 20195 A&  ron
3XFEZ MAH | 2XtF=Z Ol &t H oy ME2HA = o
@ 8 = ) ®) GEE)
© HMUEM NS HHNFAS 35000F*20% 1 B 1,400,000 &
@ USSATAC SHSEAMXIAAMS 1X =8 SN
—AEHASSEASESR ALCZ2A IR St 26,91€ 26,916,000 &
— AEAMSSRINEIESE EE4 MZ 4 557,200,000% 557,200,000 &
— IR QI eI 2 H SEH Y AT 2 S - 119,992,000 &
— =ML =200l R A2 AIZ: 4,000,000& 4,000,000 &
—MREX SaZEoll MElA: 52,850,000 52,850,000 #
—HUEH Y s A5 S: 99,800,000 99,800,000 &
—2Z2HoMMSAX A S HPLH: 65,000,000 65,000,000 #
— 2220 MEEH 224 JIEFI A =3 5,000,0004 5,000,000 &
— A E W EZN=IME 2D 1,500,000& 1,500,000 &
— WA S Holge g2t 2,000,000 2,000,000 &
— BHA A E Leading Class: 3,000,000& 3,000,000 #
— BHA ) ACH S Powerup=Z 2 11 &4 6,000,000 6,000,000 &
— WA NAE ARLIAOEAZH: 9,600,000 9,600,000 #
— BHA T QECHEE MM XD IR 30,212,000& 30,212,000 &
— St M S ALERMIE: 32,800,000 32,800,000 #
— WstSHER FogegASE 35 S 108,420,0( 108,420,000 &
— NMEFESEE JIFSAI2IAIAE S 209,800,000 209,800,000 #
— XA & 231,500,000 231,500,000 &
— M =& TOP 2ISX M E It S: 39,000,000 39,000,000 #
—usdut2te|Hy s SFRE: 35,400,000& 35,400,000 &
—FHYM=ZXNEH M3 XEE: 40,500,000 40,500,000 #
—FHANZ XA FHSFHZ: 28,600,000 28,600,000 &
— FHYM=Z XA Al 22 =W 40,000,000 40,000,000 #
—FEMNZ XN BHG A HMESH]: 120,000,00 120,000,000 &
—FAXNZXNJA™ HG A0 S22 S:1,750,000¢ 1,750,000 &
—FEdNZ XX MBI 28,600,000 28,600,000 &
— W2 X Fast lane S: 218,150,000& 218,150,000 &
— SN SEeS: 14,800,000 14,800,000 #
— PBLAIAMIE: 28, 500 000& 28,500,000 &
— A2 Z2EISHH: 1,000,000 1,000,000 &
—JINM ZE+===2: 588,000 588,000 &
— /\F':H SH2: 814,000& 814,000 &
CHetEAlIFRC NSHAFI 2 L 2IH| A& -9,920,000 &
CHSISAIFERC (HStHI SSE2S|H ASHASII AT
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o = 201981 SE | 2010810 E | - o
3AFE oM | 2K 0| Ao <o AEZH = o
2 & s ) 8) e
— AT EQIN Nuke 2&H| 45,000,000 45,000,000 &
@ US&AZ=AHY AFHASIIIANMHRLSEH] Agas -14,000 &
@ (SIS AR AYHAMSIIANMPUSYGH S22 ¢ -5,400,000 &
@ (SIS AI=RH NEARTZ2 NSHIjE 29| AlgA -214,789,000 &
@ TMNSIA(MOH) SIELH T AIY ASASHMNS -1,400,000 &
O MIEXSE AMISXNEE2ASH AEHASAISSX 250,000 &
@ UENH AR SEE =S ASASSEI|EIEZSE 3K = -34,000 &
[ASEMINERA]

(o StMR2|0HO0lM
— Ctadb 1,000 +50H *2 3] 100,000 &
— XAZ HMIEH| 3,0008*808 %23 480,000 &
® WAAIAL
— £2tH| 300,000& %13 300,000 &
— Ctadt 2,000 +80H *2 3] 320,000 &
— XEZHIEH| 3,0008 %1008 %23 600,000 &
®© =F=HsS23
—TAH Y T2 HIE 400,0008 %23 800,000 &
— XHE20] 30,000 *x2H*23| 120,000 &
0 SHAFZ| Y AdMEZNE
—ZTAH Y T=Z 2 HIE 400,000 %23 800,000 &
— 2tJ]0l= 200,000 200,000 &
® S0te] dM4E=EAHAFT
—ZTAH 2 T2 HIE 500,000 %20 =0t 1,000,000 &
® MZAID| D2 DAL
— Ctdb 1,000 %30 *25H )| 60,000 &
— MSHE220] 8,400& *2.5A1 2Fx3E x25H )| 126,000 &
(® W22t WA WIHE] 20,0002 20«2 3| 800,000 &
® EFI|IsAtHE
— AFJ|sAHE WIHE] 20,0002 %20H 400,000 &
— A2FJ|IsALE HE722Hl 100,0003*x20H 2,000,000 &
— AFI)|sANE DI 30,000 %20H 600,000 &
® AS2IHUE
— S22 2HE WIHE] 21,0002 %212 23| 882,000 &
—a=2l0E I A 28] 300,000& 300,000 &
—Z2202E 28] 1,050,000 %23| 2,100,000 &

© TCHd s
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o =2 201931 H S | 20193/ A E —
SR OlAtH | 2RI 0f Aty oy AE2H CI
2 g = (® @) #e
— ITHHI 7,500 %30 %23 450,000 2
— MEHAMS 0|23 L2H| 26,000 %30 *23] 1,560,000 &
©® TCAZL DA
— ITHHI 10,0002 *15% 23] 300,000 &
— CHt 2,000 %152 %22 +23] 120,000 &
® CS2IHA DA WH| 30,0008 *20H 600,000 &
® HAICIUOIEIUE WY 25,0009 %20 500,000 &
® JISHIXNEXNDH
— CHIHHI (2,000 %302 %2235)+(2,0002 60 L *2 %) 1,560,000 &
— AITH (10,0002 *36 % *203)+(10,0002 *60 L *23%) 8,400,000 &
— 213 (50,0002 *30% *23])+(450,0002 *23]) 3,900,000 &
— ITHHI 10,0002 x50 %25t 7| 1,000,000 &
— 23 =FME 20,0008+50% 1,000,000 &
@ ANSTMISY SIEHSHUN AHASHMDS 3T ~1,625,000 2
@ HSTAMNSY B NSNE ASASHMDSS | ~76,000 &
@ ASTMISY HASYE ASHASHMDSA 3T ~5,500,000 2
@ NSLMINSY SEUN ASHASHM DI 31 3 -15,860,000 &
B 2,030,202,000 ¥
4324 167,110 164,900 2,210
== EAME RIS
® =2X&Hl X2
— =2 X EHl AA70,0002 %1202 &AL 21%20 8D 76,800,000 &
® =24 A X3
— =2t AL AAL 30,0009 %753 & ALS|21%20H 8] 19,500,000 &
— =20)HI & A A A 30,000%75% Al ALS| 21%20} 8] 19,500,000 &
— =22 A A AL 30,000%75F %201 8:J|+8FAH 00, 34,500,000 2
® =24A #8F U QBHI2
— =2 AA #EH, REHIZ A AH0,000%25H %23 +8t 1,100,000 &
=SHMENA AE EHLHE 2SH X2
— 91201, ZEAIE SH,HE 2SH B=E15,0002 % 13,500,000 &
@ (S NstH St XA (HISES) =24 Al 2,210,000 &
B 167,110,000 &
4325 179,504 219,700 A 40,196
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R0 A =R WS ALS
2| AH0IE: 2,000 *100E *23]
Z e 8,000 *100H #2323
o S(M=CHal S A" 40,000&+10
SHL (AT ASATALE S) WM )
5008 %2,000& 2t |
SHZ A Wel J|2E st
&t 1,500,000& *28t )|
SHZ & XN& wUEst
X NE &&t 8,500,000 25|
25 X& &8 200,0003*200H 28t
B St ALAIE 200,000 *2 K 10k &
st EStMEUST B AE NS X2 AN
St EAE DS A FAME LS

S EENE

At 225,0003«6 1 S+2H +25¢ T
250,000 225} )|

=1 225,0003 3 =+2H+25 )|
1 225,0003 *1 0t =+3F 284 )|
70,000 *30E +25¢ |

ASHH| 204 3%%1,500,0008 %23

SHCEOSHHIZH 32%1,000,000& *23]

) S HSHHAIY 1R £ BU: ]

o o — o

R0 AL WS ALY st XAl 2
R0 =L WS ALY st XAl 3
HEH ZOHUHS M ER0I KR ALY &
Bl Btg -10,000,000&

WEINAMNSHISES) sSMXS
o SfE2dN stdXIEd 33
g Ustg ISt gy s8I
oF) StE 2 MALY St Xl 3
oh) Bt K WH ALY SHAE X2

NN
>z 2
>_| 1 1 —

0

400,000 &
1,600,000 &
4,000,000 &
2,000,000 &

3,000,000 &

17,000,000 &
80,000,000 &

1,600,000 &

60,000,000 &

10,000,000 &

5,400,000 &
1,000,000 &
2,700,000 &
1,350,000 &
4,200,000 &
9,000,000 &
6,000,000 &

11,750,000 &
-1,300,000 &
-3,493,000 &

_C,>‘;_]

-10,000,000 &
-32,523,000 &

-400,000 &

11,000,000 &

675,000 &

—-1,230,000 &




o = 201981 A | 201981 A= o
BXIEY Clate | 2%HEA Of Ao Soc Et=p 3o
o g s ) ®) e
@ HANS (MO SHIE SAXAY| 3 =2 2 ~4,225,000 &
B 179,504,000 &
4329 1,064,742 1,146,535 A81,793
JIEFEtA A Y| © ISLXI|2E 82 S A ARSI 40,000,0008 40,000,000 2
© HEALR AT L A2E 6,000,000 64 36,000,000 &
W Al BTS2 22| JIE S M2 2% 22 2] ~10,000,000 &
@ LISl A)|ZE S L MII2ELAIY JIEFE MY ~7,000,000 &
@ i A0ia2 BTS2 B2 JIEIS M| 3% X2 2] ~26,000,000 &
(ZHDEH]

® B2 H 2L DFALL]
—SHAFZSAAICH: 5,000&*100H 500,000 &
—BHR0I LB HE], WYUK S SALAEHI: 400,000 800,000 &
—=24] 10,0003 *x100H*23] 2,000,000 &

® EAAT2EH(,I11)

—AIARH] D 1272 %4, 5003 *3A1 %202 *2 5] 68,580,000 &
—2bAl 9 2 DTHHI: 1272%20,0002 23] 5,080,000 &
SHMREH EAAL2EN |, 1) 15 £ 2o -2 ~2,540,000 &
® 2HDEX WS S228H 320102 L DS AL ~2,500,000 &
@ 2HNEH B0 L DAY JIEFE M2 3% ~800,000 &
@ ZHIEH EQAALIZE JIEIS MY 37 22 2 ~3,920,000 &

(&t metH ]

© ZYAN EX MH
— 502 %10,0000H
© Hrold mM=

ez

— SIHZ & BIRIG MIZ 2,0008 *300E 28! |
5 &t %

@ &2 WS s AHIAX AN (]
(HAXZ2XEA]

© CHete RteldE

— 82X &= 300,000,000&

— NXH X &= 125,000,000

© S YEHAUE AL

S/ o

) JIEHS]

500,000 &
1,200,000 &
-500,000 &

300,000,000 &
125,000,000 &
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a = 201981001 | 201080 & | .o,
SAEE Ol A [ 2KEFE 0 A <o AMEZ2H = 9
2 g = () (8) G
— S XJA2 35,000,000& 35,000,000 &
@ FIINIXNSH FHAHNSEHUS 1K =H SH: 9 9,900,000 &
[BHA AMSHAIE ]
® HEAMA2(W2): 150,000 +3H 450,000 &
® HEAMAZ2(ALTHEI0I X): 100,000*10H 1,000,000 &
©® ANAOTEIHHI &2 AHH(2=IHH}OI X ): 300,000&%22 600,000 &
(® oFH AED|Y dar=ad =2 AH]: 500,000 %15 500,000 &
® SIAIY EHAE =2 AHl: 100,000 10" 1,000,000 &
© OIHYALREE HAANZ2(SAIEE): 250002 *1( 2,500,000 &
® X=X &SH2:100,0002 8«23 1,600,000 &
® ZAIH(ES A=A 2=1HHI0I X): 75,000 x4 4 300,000 &
©® dANEHE ES=HHI & ZABI(Z=IHHI0I X): 300,00 9,000,000 &
(® OIed ST A 2ZPAFEI (=3 2=TH B0l H): 150,00 8,400,000 &
® O MOl IIE84H|: 100,000 *x10H x43| 4,000,000 &
® === HOIA & WAl 3,200 «100H4 320,000 &
@ Al2IZAI &7 22 MMPIZ AF 4,000%600 + MBTIE 4,640,000 &
@© AS2O0I2=1HHI&): 120,000 «16021%0.9 17,280,000 &
© SENMES (RS IMIAE): 60,0008 *3021%0.9 1,620,000 &
(@ LBIAS S (S2IICIAE): 30,0008 +«5021%0.9 1,350,000 &
® THEAM ZHHE 2] ZAHEE Al2])Z AF: 180,0002 *3( 4,860,000 &
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